AMERER=>KBE=EYE DI :2

#H02S  APIREEMERED (SCEB) W=

155 9/28 +HEH

06 | 08 08
07 | 15 15
08

09 | 18 18
10 | 18 18
11 | 15 15
12 | 15 15
13| 15 15
14 | 15 15
15 | 15 15
16 | 11 11
17 | 19 19
18 | 30 30
19 | 26 26
20 | 34 34
21

22

(EPREZE /N X - navitime & V)

KEEZEYE=BNERER oVIiE:1

02 HMERRK =
i53 9/28 +HEH
06 | 51 51
07
08 | 39 38
09 | 43 40
10 | 44 42
11 | 44 42
12 | 44 42
13 | 44 42
14 | 44 45
15 | 44 45
16 | 46 47
17
18 | 03 03 59
19 | o1
20 | 09 08
21 | 40 47
22

(EREZE /N R - navitime & V)



